| Efficiency vs Dxy |
> 0.2
<

5 S Y | M A A
L ] | I IR R S S
< e 1| O

L o R A

9 : H H H H H H H H H
N S € 11
© - : : : : : : : :
O ] R R S |1 i it St S
O
008+t
s 5 R ot o

.7 R 0 | o e
002 A

1.

Ratio

1

1

0.95

0B 561510 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__mkFit-DQM_original-0
[ Efficiency vs Dz | |—s— DQM_TT__mkFit-DQM_mod-127

12 —— DQM_TT__mkFit-DQM_mod_updated-127

efficiency vs dz
=
!
.

L S S S —
Y R S s s
ol

R

1Q

Ratio

8620 -10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


